EAEBE  BEEREE R ﬁ’%ﬁ%mx BATHBE ATHBE — BEEEHE

= x 60029
s YQY KRB 77772 J— a5 {%l:még . fglrmg
£ihig Hﬁﬂﬁﬂ% m@ugm 4:L e Zihig A om I E [ 50%
i 0 60035 e 60037 =
e Qﬁ% P L :uauim g ?82 g ggZ“ 4 B ‘/EH 29
O e O SFT LS Je :
mugtm Tﬁﬂlﬁﬂ% D | 60% 00 (*E'. _%%_) 60036

/ \ _Bhr=an ///

ths#

Yernst 376 379

386 ’ \
%PP{

Py
mw%/A

b

A2 TH
—366=

FHRAMITH SﬁG
SGGﬁW?—‘SGG/ =4

4463\

L/\f
\Xﬁﬁ uﬁf 1
RN | 356 N
A

/ \ \

1/ﬁﬁﬂJgu;ﬁﬁF:;wi§JiJ yﬁFiﬁy,

Vi = \/’1
ke N s s

7/ﬁ\\\\L | | oy E=——396=

~ 7 - \ 306G / -

(— /T i\ ol A // ER / 3 F\SZG\ijm o same =356 / A T FRK
J Y N336 | TSN 366 366=—=|



